SCALE: 1/4

- — 2-3/4"

RAILING POST

1-1/2" SCHEDULE 40 PIPE .

(1.90" 0.D.)

- 3-11/16"
Oﬁ\ NN

#515 WALL BRACKET
MODIFIED PIPE ADAPTER TEE
3/8" FLAT WASHER \

3/8" x 3" LONG BOLT *\
(I | | B
3/8" LOCK WASHER J

3/8" ACORN NUT

PART NO.

DESCRIPTION

542

SERIES 500 WALL BRACKET WITH MODIFIED

PIPE ADAPTER TEE AND HARDWARE

JUPERIOR

ALUMINUM PRODUCTS




